RET X 2020-2021 %4 H — EEMBCEER % RAS
ik
1. B3
BRIES 4={1.23) » B={y|y=2x-lxed} » W 4= C D
A. 1,3 B. (1.2} C. {23} D. {1.2.3}

2. Bk N
THIREBHRFREHN C D
A fx)=x"+1 B. F{_r)=_1:+% C. f(x)=x"+x D. f(x)=2x+1

3. Bk <

w xekR > < xelx|2-x20} TR xel{x|0=x<2} R C )

A RO BEFAM B. WhEA TR A C. mEXM D. BEA R A b B oK
(i3

4. B RR
—TEEAER ¢4 pergeo WRER (L0 W peg= )
Y o
A L B. ! C.0 D. 1
6 3
5. B RR -
g JxeR > P 4+3x+2=0 THIRERA ¢ )
A wxeR v 43x1250 B. 3xer N Asx+2<0 C.vyreR » 4+3r+2<0 D.
dxeR » P 43x+220
6. B RR -
FRNBIH AER A (o LRIRHAR
A. f(_t]zr—?p_t—z B. _Jr"{_\-j]:al C. .f'(_r}:_r.;]_ D. f’(j‘):_\'}
X X
7. B RR -
FAAERF LR ¢ )
A gsbs0=ac® > be? B. ﬂﬂh<”=¢’£<% C.uched=a’ <abeh’ D.
axb>0=d’ >k
8. B -
BRI & _1==2.1:+L|{x>1} FiEs/MER ()
x=-
A4 B. 222 C. o242 D. 22
9. L
EL A1 3 ,;-(_r;_{*r*j;ﬂg L E p(a)es > WM, WEETBER ()
x(x—4).x<

A. [-11] B. [-5.5] C. (~oo,~1]\[L+) D. (o, -5)\[5.+0)



